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B2 v Player (Script)
]- \I\IC)r1<(3'.EE! — | %52'251-522- Waypoints 5
Bake®! TS NavMeshAgentZ O|S . I
2. WaypointS H|E = RO} e
S waypoint= HH2X O 2 0| S8t clament4 2 10) (Transtorm) ©

El—ﬁ_l_ + =

Agent * Worker (Mav Mesh . &

ansform[ ] waypoints;

SetNextWaypoint()

currentWaypoint Index = (currentWaypointIndex + 1) % waypoints.Length;

agent .SetDestination(waypoints[currentWaypointIndex].position);

1. 7|2 s : 287, 7| (HHE uZ d=s ME T1S)
It 7 &= HEOE 48, S50 ESE AH = LA
2. 7|% '6;)% 9{7' (%_HLE!QE 37H9_| OH |__| D-”OM_ |'<z> [1 animations = { "Sitting", "Sittingl", "Sitting2" };

startAnimation = animations[Random.Range(0, animations.length)];
animator .Play(startAnimation);
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davww.BANDICAM.com

=

agent .enabled =
rb.isKinematic =
rb.useGravity =

(gameObject .CompareTagl

(im.item4.transform.position.y < 2.8)

animator .Play( "Deatf
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i f (gameObject.CompareTag( "Worker2"))
{
animator .Play( "Death");

-
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else if (gameObject.CompareTag( "Worker3"))
i workerOFCH  F
o - - Plav( "Knockdown Riaht"):
| |O| |_=|§ Al—-g- 1 animator .Play( "Knockdown_Right") ;
I
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o .
Tt {randomlndex = U]

{
Z I — q E spomnedlbect . transform_posi tion += actor3(-0.3f,

waight = 70 * combinsd:

k. dar collider = spownedlb)ect .GatComponent<to
(collider = )
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col |l ider .canter = newCanter :

za = coll ider _s1za:
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58 | T4 randomindsx = 1]

spaanedlbject . transform_position 4=

waight = B0 *« combined:
spamnadib)ect . GatComponent<Capsul aCa
collider .haight == 1.6f;

Jectord newCenter = collider .center:
newlenter .y = 1

(4] 1 3aF .CBNTar = 'a.Zawter:
HandleliftHit()

ignoreHit = ; 5 if (randomlndex = Z)

StartCorout ine(ResetIgnoreHit());

agent . isStopped = : spamnedlbject . transform_pesition +=
if (Im.weight >= 35)
{

waight = 30 =« combinsd:
isHeavy — ]
rb.isKinematic = ; .. . I ;
animator .Play("Lifting"); R /
StartCoroutine(PlayBackS| ipAfterDelay(9.3f));

k. dar col r = spawnedib]act . GatLomponant<Bo

a = coll ider _siza:

ral
21

I _EIZB = nawSize:
; tord newCenter = collider
animator .Play("Throw"); w o=

o

=
(S E T = < [ ]

isHeavy =
Destroy( Im.spawnedObject, 2.5f); .

: col | ider .centar = newCantar ;
StartCoroutine(ReWalk(3f));
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I P I I | j | | foreach (Flaver plaver in plavers)
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er == WeatherState.Rainy currentiieather |= PeatherState.Rainy)
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CheckP |l averFal | (] '

fal IProbability = fal |Probabilitieslcurrent¥eather]

foreach (Plaver plaver in players)
{
if (player starténination ==
]
fal IProbability == 1, 2f;
break:;

isnlipped = fal |Probabil ity = 50
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writer,
tm.

tm.
tm.els

i
writer. | . )i
writer WriteLine("S4 © " + wm.currentWeather);
writer Writeli 2] F2 ¢ " + (wm.previousleather = WeatherManager WeatherState Rainy 7 "0 ¥ E Q0 | |:|_
writer Writeli P humidity 4 1 e
(=]

=
=
e e TSR R S S A EHER A T Ab b 210 . O/ T3
=M : None
ZZ HE2|F:0
=0 .70
&2 85 : X
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| i 1

2 A : 52.48882

] t 1gthl
tm. el ime == [tm.davlLengthln
1
writer Writeline("A} D dhii = C BHE SHE S0
writer WriteLine("S2H " + {int)Im.weight + "kg"};
writer Writeline();
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Data

Time Gravity Acceleration Angular Velodty Linear Acceleration

0.02
0.04
0.06
0.08
0.10

(9.73, -1.26, 0.0)
(9.73, -1.26, 0.0)
(8.55, -345, -3.34)
(8.55, -345, -3.34)
(8.55, -3.45, -3.34)

(0.0, 0.0, 0.0)
(0.0, 0.0, 0.0)
(-5.62, 446, 6.82)
(0.0, 0.0, 0.0)
(0.0, 0.0, 0.0)

(-2.62, 0.38, 0.0)
(-4.46, 0.64, 0.0)
(-6.36, 1.35, 0.65)
(-5.87,1.93,1.34)
(-641, 234, 1.82)
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Activity
walking
walking
running

running

walking

Angular-
Magnitude

0.875957
0.683667
0.890505
0.560357

0.512055

Linear-

Magnitude
6.615701
16.896230
22.310977
3.819149
0.076811

Angular-
Var

0.033233
0.046433
0.383433
0.108400

0107033

Linear-

Var
20.765733
57463900
94.559033

2.196133
0.002533

Total-
Magnitude
7491658
17.579897
23.201483
4379506
0.588866

|:|.O|=o|- ]:[l-LH

Angular-FFT-
Strength

145

1.06

0.28

0.54

0.38

Angular-
FFT-Phase

0315753
0373229
1.072520
0.570263
0.566657

Linear-FFT-
Strength

2.59
22.62
3043

553

0.05

Linear-FFT- Angular-XYZ-

Phase
7.892858
13.129302
16.842717
2.566788

0.087178

Abs-5um
145
1.06
1.24
0.58

0.82

Linear-XYZ-

Abs-5um
9.13
25.04
31.83
5.53

0.1

Angular-
XYZ-Mean

-0.483333
-0353333
-0.093333
0.180000
0.126667

Linear-XYZ-
Mean

0.863333
7.540000
-10.143333
-1.843333
-0.016667

Angular-
XYZ-5td

0.182300
0215484
0.619220
0329242
0327159

Linear-

XYZ-5td
4.556943
7.580495
9724147
1481936

0.050332




Machine Learning Algorithm

Input data Weighted data Weighted data
Dree @ ® : : : . : ~
0000 : o0 [ LightGBM, Gradient Boosting, Logistic Regression 22 S A&

0000 0000 ®
, | [LightGBMZ2} Gradient Boosting]
Classif Classifiet Classifier Ensemble Classifier OlE Qf_é.__l' %%7'%% 7E=|_(|.5=||"6|-O:| E—I %)l'_él__l' %_ﬁ_jl% DI_I-EE J_"'l-gl 9_' %‘I’_El%%
::. 000 [Logistic Regression]
- - 0|Zl 25 2H 0 M B0l AFBE= MH B H
L 00® L0900
— | 0000 200
x 9000 x0000
Classifier 1
AN
B:03 \
Classifier 2 Q
A 01 _ 0.74+0.1+0.6 = 047
B:09 — g = 03409404 _ o3 —
Classifier 3 / . . . . - N .
Bayesian OptimizationE Sdll Hyperparameter Tuning

A:06
B:04
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Soft Voting

Soft Voting
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Enviornment Metric Value
_ Accuracy (%) 87.4
U
nity F1 (%) 92.3
Accuracy (%) | 88.1
Real World
cal yvor F1 (%) 88
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